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Monday, May 22

1. Which function has the same sloee as the graph
below? 2.1 J(9, -3) rotates to J’'(3, 9) and K(1, 4) rotates to K'(-4,
1), how many degrees and in which direction did the

points rotate?
A) 180° C) 90° counterclockwise
O (

B) 90° clockwise D) 360°
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EOG Prep Quiz 1

Need scrap paper - number questions, you will
want this when we check our work

u A A A B
.8.0

Question 1 5 pts

Calculator active.

Which choice is true for 10k - 16 = 5(2k + 4)?

O A k=-1 0k~ |(, 5(2k+Y
O B k=1 M.(G m+2

O . There is no solut@ b

O D. There are infinite solutions.
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2015

Question 2

5 pts

The table below displays the number of DVDs sold and rented at a store for

5 weeks.,
W e DVDs Sold DVDs Rented 5 2 3
.kzs 50 # L(
45 79
40 70 5
\ 22 48
 MRAG = 4Q

¥ N 7 “s
Which describes the association between the number of DVDS sold gind the

$\.N

A system of equations is shown.

number of DVDs rented?
A no association negative association
B weak association f D positive association
Question 3 5 pts

What is the solution to the system?

A (C1, 1)

B. (0,71)

/\ ~ . no solution )

D. infinite solutions
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2019

A y=3x+ 10

L O

€] -

504 e

L4

Which equation best models the data shown in the scatterplot below? o 75

L4

U? 10 uzoa'sos‘ao " 50

C y=4x + 5

y=4x + ia

5, S50

5, 129
20, 100
25,150
30,125
35,200
i, N>
2,250

Question 5

The table shows the air temperatures at different elevations.

2015

Elevati

erature (°F)
75°

[ C—

100 70°
200 67°
300 64°
400 59°
500 55°
600 50°

y = %X+35 [

ich line best fits this set of data?

y=ix¢?5
-

v

5 pts




5-22 EOG Prep 1 Quiz.notebook May 22, 2023

Question 6 5 pts

Which choice is an irrational number?

A=t

- L
E James is fitting the linear equation y = éx to a data set. Which scatterplot shows - @
the data set that the linear equation would fit best? 2
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Question 8

Calculator active.

How many times wi

A 4

Nolan is buying a season pass to a performing arts center.

« One performing art center charges $100 for the pass, plus $15.00 to park each visit.
+ Another performing arts center charges $75 for the pa¥% plus $20.00 to pMach visit.

ould Nolan need to visit the two performing a

0C |

K

5 pt:

centers for the cost to be the same?
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The scatterplot shows the amount of sunlight some tomato plants received and the
amount each plant grew.
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Hours of Sunlight

What is the meaning of the slope of the trend line shown on the scatterplot?
A plant grows aboutanchﬁ for evemz hours of sunlight it receives.

R A plant grows about 2 inches for every 3 hours of sunlight it receives.

A plant grows about 3 inches for every 1 hour of sunlight it receives.
~ -

A plant grows about &, inch for every 3 hours of sunlight it receives.
-
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Question 10 5 pts

M
Students were surveyed about book bags. The reszn bela\—.-Eh —
Male Female %7 ﬂ
e | v O] 10S (O
Do Not Carry 63 a8
a Book Bag " # 5%7” q§7)

A student concluded that, for those in the survey, females are more likely to carry
ook bag than males. Which explanation best supports the student’s conclusion?

‘ A For females, 54% carry a book bag, while for males, 43% carry a book bag.
N
B For females, 27% carry a book bag, while for males, 22% carry a book bag.

& For females, 57 carry a book bag, while for males, 47 carry a book bag.

x For females, 48 do not carry a book bag, while for males, £3 do not.

I
2
3

Question 11 5 pts
E The table shows four quantities. Each quantity is assigned a numeric label.
Numeric
2018 Quantity Label

| 3=y,
VR e 239)
e it

* Order the guantities from least to greatest.

A J
F=Y

|
*  Next, write the sequence of numeric |labels in the same order as their
corresponding quantities.

¢ This sequence of numeric labels is your answer.

+ Enter your answer into the grid. (For example, if the order of the
numeric labels were "1, 2, 3, 4," enter the answer as 1234".)
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Question 12 5 pts
Henry made the scatterplot shown,
Y
2019 10
9
8
7
6
5
4
3
2
1 - o
- |
S x
0 12345678910
The scatterplot shows the data points, and it also shows the linear model that
Henry drew. Which statement best describes the linear model?
A The linear model describes the data well because points are scattered above
and below the line,
B The linear model describes the data well because all the points are close to
the line.
C The linear model does not describe the data well because the line does not
go through any of the points,
D The linear model does not describe the data well because most of the points
are located above the line.
Question 13 5 pts

Tl

Which scenario would most likely show a nEEative association between the

variables?
2015 A the height of § tree, x, and the amount of time it takef to climb to the top of
the tree, y

B the number of peoplefin the mall, x, and the number of crs in the parking
lot, ¥

C miles travel%n a car, x, and the amount d4f gasoline used, y

time spent readihd’ a book, x, and the number of pages Jeft to read, y
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Question 14

)4

wun
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What positive integer is closest to the value of J2307 S;ﬁ 2.: ’._'._1
V2257 3369

3

-2
=
[ X}
3
N

©

Question 15

Mo calculator.

What is the solution to the equation '3()‘( +p4) = “6x +[18? l
2% -2 F - x+ (B
LA y

O A 2

O K no solution

O % infinite solutions

5 pts

B
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Question 16

5 pts

Sharon made a scatterplot comparing the shoulder heights of dogs to their
weights.
120

110g
100

Weight {pounds)
sg2as8s8

30

2 4 6 8 101214 46718 20 22 24 26 28 30
Helght (Inches)

Sharon's dog has a shoulder height of mnches. Using a linear model, which is
the best prediction of gg dog's weight?
A 85 pounds 105 pounds

B 90 pounds D 120 pounds

What is the solution to the system?

A (2,7)

B. (6, 73.5)

Question 17 5 pts

Calculator active.

A system of equations is shown below.

L e
Iy
Nl'lim':.l.]w
U
]

b [+ ]

c. (7,72.5)

raph in Desnio §

10
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Question 18

4

sum of all the integers between /19 and 77 ?

54-@4—_’&9
15

20

o)
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AL~
B
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Question 19

Calculator active.

One line passes through the points ("1, 6) and Q

@ Yqinxy

+b

At what point do the two Iines intersect?

- _ =1
A (74, 6) S

B (72, 8)

€ (1, 2)

2 D(3,72)

Vo~ Xy + b

11
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Question 20 5 pts

P

i i is _ bhath Q i i ?
'Er'ﬂl Which choice is he square of an integer and the gube of an integer?
A 121
AN, 8@

2019 B 100 D 16

12
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